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Data Sufficiency
B3T0% DU

Note: In questions numbered 1 to 20, a question is followed by data in the form of two statements
labeled as I and II. You must decide whether the data given in the statements are sufficient to answer
the questions. Using the data make an appropriate choice from (1) to (4) as per the following guidelines:
a) Mark choice (1) if the statement I alone is sufficient to answer the question.
b) Mark choice (2) if the statement IT alone is sufficient to answer the question.
¢) Mark choice (3) if both the statements I and II are sufficient to answer the question but neither
statement alone 1s sufficient.
d) Mark choice (4) if both the statements I and IT together are not sufficient to answer the question
and additional data is required.
Rred: 1 200 20 HOD AAYD OB g?lesﬁé) w503 , o S06 I, IT 9D bgoen 1o Totdd DT en
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DogTren wPToIT Tor 9D DM .‘I)g"ﬁoa'*e'). & oD £08 BrGR0yS drgren DA (1)
00c (4) D65 DB WaND 2ITLNW JodS Ianfod.
a) DF) D DIrEED0 FS0H HISDo [ g DovgHSonS D 2Ivew (1) e oo .
b) D) D DIrErdo BTy oHH P30 1T Jorgdo HoDHHa0S D 2avew (2) e hfodod.
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e00d o 2a7ew (4) e HBosod.

Sub questions

Question Number : 1 Question Id : 7473902323 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For real number a and b, is ab<0?

TR Vo a bk b €0, ab<0 eHtom?

l. a/b<0
Il. a+b >0
Options :
1.¥ 1
2. %2

3.%3



4. % 4

Question Number : 2 Question Id : 7473902324 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many marks did Sravan get in Science?

PN 3065 § DY AFEN O HTPNOD?

I. He got 70 marks in English

03I RoANES” 70 Hrd) L0 HENAD

II. He got 160 marks in Science and Mathematics put together

20308 2Oy B0 (fe3esoes” DD 160K D HT°yaW.

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 3 Question Id : 7473902325 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Is a=b?
a=b @)e0?

[. ab+ta=10
II. a>+b?=2ab

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 4 Question Id : 7473902326 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



How many students passed CAT examination this vear?

& DodS o T DELES” Dot H00d DrrjEien &BEVOITIE?

I. For the last two years, the number of students failing CAT examination is

mcreasing at 15% per year.

1569 Boligre S°4E D6£e5° Dowed ey Do Doady DS 15%
DEHS 0.

II. Two years back 20,000 students passed CAT examination.

Bol¥f §%o 548 H8%¢e5° 20 ,000 2008 Dcr;gg)w eei?ggooﬁrscb.

Options :
1. %1
2. %2
3.%3
4. 4

Question Number : 5 Question Id : 7473902327 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find the rate of interest?

ag, B LT D0E?

[. The simple interest accrued on Rs.22,500 at the end of forth year 1s Rs 10,800.

JreNed ‘é}obéaci :.mﬁoa’g_')é" S . 22,500 5 20 956335 Fs e ile > ;ﬁé
¢or. 10,800

II. The compound interest accrued on  Rs.22500 at certain time at certain rate 1s
Rs. 5,724.

DG H200aH0es° IS Gend 6. 22,500 3 28 90D SEHG 6. 5,724.

Options :
1.¥1
2. %2
3.%3



4. % 4
Question Number : 6 Question Id : 7473902328 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When i1s Adinarayana’s birthday this year?

& AT OIT oD DHOIG DD C?

[. It 1s between January 13 and 15. January 13 being Wednesday.

2020 13 Sodain 15 G, 2000 13 endardo.

II. It is not on Friday.

QG BO8T° G0 T°ED D

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 7 Question Id : 7473902329 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the monthly salary of Swamy?

3“53)3 Do Beédo doch ?

L Swamy gets 15% more than Srinivas while Srinivas gets 10% lesser than

Murali

DD Eok3 F 15% 80D Jodmr, J06P S0 DD 10% Sy D

o)

II. Murali’s monthly salary 1s Rs.2500

J0E9 Do Scho B8r2500.
Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 8 Question Id : 7473902330 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Buses are always punctual in city X. How long, at the most, will Mr. Sharma have to

wait for the bus?

X 36065 23R40 DPKDYET RXADIO OO, 3E), TP LRy o

D0e3DY) ) Eotd?

I. Mr. Sharma has come to the bus stand at 9 am

30), TP &60D0 9 ot aag*’oéé ST .

II. There 1s a bus at 10 am and possibly another bus even earlier.

500 10 fotrws) Ay €od. B3 Wod) S00d TS Ry

%o(‘.‘..&‘)rﬁj‘b.

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 9 Question Id : 7473902331 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Some social workers are generous; Some generous people are rich.

Sod08 FmAres STE(SED SIS Gotrtd; S0t &S DET DD

BHDotew.

|. No social worker is a rich;
D PArEs 5°E(SE BB ST ;
Il. Some rich people are social workers.

Eoth:008 BADoBVeD FrAres SE[Sden.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 10 Question Id : 7473902332 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is the interest rate per annum?
28 DoDB\TIS HE e dodh?

I. The difference between the compound and simple interest on an amount of

Rs. 1,15,500 is Rs. 415.8 at the end of 2 years

65°.1,15,500 2 2 005SNT"0 S0ADIL 58 HE SO0 JTe Hé B0y

TR0 67.415.8.
Il. The simple interest earned at the end of one year is Rs.2420.

S VoSyCo Qad8e5° sﬁif)() Aot a‘)é 3r.2420

Options :
1.¥1
2. %2
3.%3
4.% 4

Question Number : 11 Question Id : 7473902333 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Is “x” divisible by 1077

107 & X’ DFN0T 2ot ?

L ‘x’ 1s multiple of 749
X' 98 74938 Dheasedo

II. x’isacompound multiple of 7 and 37

X' D6 7 Hobastw 37 oapsbaméé easo

Options :
1.¥1
2. %2
3.%3
4.% 4



Question Number : 12 Question Id : 7473902334 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the interest earned in three years?

QrEes”® SO DG dod?

L. Principal 1s Rs.1000

290e0 Rs.1000

II. Rate of Interest 1s 5% per annum

SC Bew oIS\ 5

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 13 Question Id : 7473902335 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Among five friends- A, B. F, G and H who are driving at different speed. who 1s the

second fastest?

DA 0) 3G A, B, F, G 208050 H 28) %) 6 .8), Drio8 Hosredorr .

Cocisd eadfos D390V DHE?

[.  OnlyF is slower than A. B 1s faster than H and G.

A S083 F Srgian QO Gotre. H udasn G S0€3 B Dfol™ &0obTedd.

II. G s faster than A and F. H 1s slower than B but faster than G

A SD8a30 F S0 G Heforr &otred. B Soé3 H Qa0) BT €50t e 5 G

S0t DT ot .

Options :
1. %1
2.¥2



3.%3
4. % 4

Question Number : 14 Question Id : 7473902336 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What should be the selling price of a fan so as to make a profit of 25% 7

25% erZio oot @"55 29530) S GG Do Go®?

L

IL.

Options :

1% 1
2.% 2
3.%3
4.4 4

The shop dealer quotes fan 80% above the cost price and after allowing a

discount of 10% he claims a profit of Rs.1500.
D GOd FYS Y GO Sotd 80% 0BE 36 DFcd 20dasw 10% S0

29003 o)D S0 S 6r.1500 ey SQVDD WD,

A shop keeper sold the same fan for Rs.3.000 and got a profit.

208 D 806 B J(D) 6.3,000 & W) ergo Fomr.

Question Number : 15 Question Id : 7473902337 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which 1s the day of the week of Fathima’s birth date?

FAL DOD BE TGS’ B DB?

I. The day on her birth date 1s at least after two days from Wednesday.

320 DA T S0 BT G0 Aol Tocd Bere) ST,

II. She celebrated her birthday in 2006 after five days from the Independence day
of India.

oo laTnt: 3“5{’90@5 BSSyDo Aod D Farer ST 200665 320 3

‘Q}@ég 2R RAYD0H.

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 16 Question Id : 7473902338 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What will be the population of City X in the year 20307
2030700;‘.@3{5;‘.1.)366 X 66 27072 Doth &otodd?

[. In the year 2015, the population of City X was 1,50,000;
2015 “@obébd&ﬁneﬁ'a X dt46 &=res.1,50,000

I1. Population growth of City X 1s 3% per annum.

X366 2572 90 o[ A% “@oé@bt)":)é 3%

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 17 Question Id : 7473902339 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



How many students are there in a class room?

208 HSHD (565 Doch Qod Dm“isg)wa"lda ?

I. If 3 students leave the class. then the class has less than 8 students

DD Doegdren SEAD (O o D ) & 8 S0l Buy D Joydoen

&0t

II. If 3 students enter the class. the class has more than 12 students.

D008 Dejen SEHS (16 S8 DD %) & 12 S0l Q8D DT§Ede

Sotrd).

Options :
1. %1
2. %2
3.¢¥3
4. % 4

Question Number : 18 Question Id : 7473902340 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For real numbers m and n. is m < n?

T°Red ?ooa.algw m , n 5 M< n VNSV ?

[. m and n are positive

m S08ad n e C_.‘::J"e:’s&So

II. m’>n’
Options :

1. % 1

2. %2

3.3

4, % 4

Question Number : 19 Question Id : 7473902341 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What 1s the radius of a sphere?

A=) m&.ﬁ“go Doeh?

I. The surface area of a sphere is 8 sq. units

28 F¥) edbde 7o 8 .o

II. The sphere is placed in a cube shaped box

208 Ao 28 DTG bgﬁa Eotiecod.
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 20 Question Id : 7473902342 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Will it be a Sunday tomorrow?

) QI 6o vHom?

I. Yesterday was not a Friday

A Bugardo B

II. Sunday 1s a Holiday

2250°C0 DY) Ao
Options :
1.¥1
2. %2
3.%3
4. % 4

Is Section Default? : null

Question Id : 7473902343 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (21 to 25)



Problem solving QAR DB Go

Sequence and series e DGATe S80in Fraew
Analogies O e
Note: -

In each of the following questions (from 21 to 25), a sequence of numbers or letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled with the correct
answer from the given four options to complete the sequence without breaking pattern.

AT -

S0H 'arf)aa‘} OB 0¥ (21 S00& 25 ) 5°2 rm‘.’)')a‘a “aoa:isw T 9ETReD TP 208 5&&)@@&‘}
DoDATI) FBROTY 00, DA D) S PO FDYD TH DAEO od DO
27720 A 'R 9R0Z DoATAS Foffo Ss” Yyrdotdols

Sub questions

Question Number : 21 Question Id : 7473902344 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

P25 49
Options :

64

1. #

, « 100

81

3.

121

4.%

Question Number : 22 Question Id : 7473902345 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

EIM -HI.P = DHL. :
Options :

GLO

1. %

GKP

2. %

. « HKO



GKO

4. &

Question Number : 23 Question Id : 7473902346 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

COMPUTER: FQPRXVHT::LANGUAGE :
Options :

| % 0CQXICGT

, « POCQXUG

- OCIQXCIG

, ., OCQIXCIG

Question Number : 24 Question Id : 7473902347 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

EIGHTY GIEY TTE: OUJTPLUT :

Options :

. » TUOTUP
, » TUOUTP

, « TUOTPU

, » TUOUPT

Question Number : 25 Question Id : 7473902348 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

MHZ, NIW, OKT, PNQ. ?

Options :

. QON

QFN

2. ®

3 v QRN

QRM

4. %
Is Section Default? : null

Question Number : 26 Question Id : 7473902349 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series e DGAen S8aiy Bravew
Odd thing Out 28°VDE Botey

Find the odd thing out from the following

& 308 FDYO DTS VBITVIS (DHotdod
Options :

., Heart— DO

Eyes -§300
2.

, » Lungs — ER0edden

, » Kidneys - 7S DOTITEN

Question Number : 27 Question Id : 7473902350 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series e DGAren S8aiy Fraew
Odd thing Out DOT’VDH dBotey

Find the odd thing out from the following

& 208 AN DTS DEIVIS (Dotdol
Options :

Mica — 912580

1. %

, s Iron - Radedn
_, Chlorine — g@ﬁ
3.

e Zinc — 2208

Question Number : 28 Question Id : 7473902351 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series e DGAen S8aiy Bravew
Odd thing Out RBY'IS Dot

Find the odd thing out from the following

& 308 FDYO DTS VBITVIS (DHotdod

Options :

1. # 9

2.86

4

3 %

4.*?7

Question Number : 29 Question Id : 7473902352 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series e 0SAeD So8ain Feaven
Odd thing Out ROJ'VAE HBoted

Find the odd thing out from the following

&1 808 DD DD T D8TVIS 1Fotdol

Options :
Ink -0O"
1. %

Paper — 3°(1€50
2. %

. « Pen— 8O

, » Sharpener — oINS

Question Number : 30 Question Id : 7473902353 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series e DGAen S8aiy Bravew
Odd thing Out 2B’VAS Botey

Find the odd thing out from the following

& 308 AN DTS VBITVIS (DHotdod

Options :

% Canal — SN0

. Tank — 50
_ Ocean - odad® Q|0
3. ¢ =

Pool — S’
4. %

Is Section Default? : null

Question Number : 31 Question Id : 7473902354 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series SATre) 8o Fraew
Missing Number/ Terms = &2y RDoayjen / Horen

Note:- The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

APeSR: - So8 AN 0B 208 HNBD DT FEBR0E. &8 DT

(5:90D0T) DBeIONVD DAFTCH0S VD HPBotods.

625:25 & =35
Options :

oy
L 1225



Question Number : 32 Question Id : 7473902355 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series S Aodain Fraew
Missing Number/ Terms = &2y Ddoaxjen / Horen

Note:- The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AR - 806 AN 0F) 28 DONBDD AJFTRO FEBW0E. €8 DAPTD

(3:90D00) BHOND DATFTHS YD HITBotI0d.
Which number would replace the blank in the series? 1, 6,26, ., 426.
1,6,26,__, 426. a9 DA D0 T°HODD Doady

Options :

[ % 16

86

2. %

3% 96

4 v 106

Question Number : 33 Question Id : 7473902356 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series e9DSATe SO0l Fraew
Missing Number/ Terms = &23® QDogdfen / Hoen

Note:- The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

APeSRd: - S0 AN OB 208 POVBAD AJTTAW FEBRWB. &8 DBJTPT AW

$E0D0D) HIOND DATTFHS eV B0,
45, 38, 2. ¥7,10;3

Options :

L = 34

, 31



Question Number : 34 Question Id : 7473902357 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 2908, SH8ain Frew
Missing Number/ Terms — &2yd Ddoadjen / Horen

Note:- The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AR - 806 AN 0F) 28 DONBND AATFT R FEHW0E. &8 DAFPTRD

(53000 890NN DATFTHS VD HPBotdod.
7.10,8,11,9,12,

Options :

1. % 7

2. ¢ 10

Question Number : 35 Question Id : 7473902358 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series oD J8aiy Frwew
Missing Number/ Terms &2y Doadjen / Horen

Note:- The following question follows a definite pattern. Observe the same and fill in

the blank with suitable answer.

APeRd: - S0 AN 0B 28 PONBD AJTPTAW FORWD. &8 DIJTTW

(50D00) ©8e90ND DATTHSE a9 HIFBotdod.
F2, _, D8, Cl6, B32.

Options :

Al6

1. ®



Question Number : 36 Question Id : 7473902359 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series e 0G50 en 8oL Fevew
Missing Number/ Terms  &aQ Dogdfen / doren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ArSD: - 08 AN DB 28 POBD DAPT A FBWod. &8 HIPT W

500D HBIAND DATFTCHS VD DIBotsod.

W4C, T9F, N25L

Options :

L. Qua
, « P16L
. Quel

, « P16l

Question Number : 37 Question Id : 7473902360 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series e 08A0e 8o Braen
Missing Number/ Terms &2y Rogdjen / doen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ArSS: - $08 AN DB 28 POBND DAPT AW FBW0d. &8 AJPT
G0 HEIOND DATTCH0E a9 DTBosod.

2..1.1/2 14
Options :
1/3

1. ®

v U8

3. % 2/8

1/16

4.%

Question Number : 38 Question Id : 7473902361 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series e DGAren S08aiy Fravew
Missing Number/ Terms = &2y Qdoad{en / Hovwen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

RAPESR: - S08 MDD DB 28 POBD ABPT A FBWB. &9 AJTPT W
(1200 DHOND NDATTHD 2R FBotios.

9.16. 23, 30, 37, 44, 51,

Options :

|« 59,66

56, 62
®



. % 58,66

q
v 38.65

Question Number : 39 Question Id : 7473902362 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 290G e So8ody Fraew
Missing Number/ Terms &2y Rogjen / Doen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AR - $08 IO DF) 28 DI DT FAW0B. &8 DJTFT"RD
500D BN DATFTEH0S 2P HTBoSod.
36, 31,29, 24,22, 17, 15,

Options :

L= 13
12

2, ¥ Gp~

3 % 14

4010

Question Number : 40 Question Id : 7473902363 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series DG ATP e 8oy Fraew
Missing Number/ Terms &2y Rdoad(en / Howen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ArSd: - 08 AN D) w8 POYBAD DT A FEW0B. &9 SJPT

HA0D0D) HBIONM PATTEHS PP DIBotsod.

Al BE5, 19,015, ?

Options :



Question Number : 41 Question Id : 7473902364 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series e 0Ge D S8adn Feaven
Missing Number/ Terms &3 Dogdfen / Doren

Note:- The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

AR - $08 IO HF) 28 DDA DT FBW0B. &8 ATFTRD

H50D0D) HBIANM DATTEH0S PP DFBoSod.

0.15,0:3, 12 2.4,
Options :

. 48
L, 06
.. 0.006

4. ® 09

Question Number : 42 Question Id : 7473902365 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series 290870 D803 FLaven
Missing Number/ Terms &3 Roadjen / doen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AP - So0 IR DF) w8 DOBDD DL JFEWod. & DA

(0D PBIANM DATFTCH0S PP 7BoSod.

P3C, R5F, T8I, V12L, ;
Options :

. Y170
, » X170
L% XITM

, » X160

Question Number : 43 Question Id : 7473902366 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Coding and Decoding Questions §cGof 08030 &8 Goh NNUSICY
Code Pattern §& Sauraren
Note:-

The following question uses a different coding pattern. Identify the pattern and

answer the question.

Q- $od RN 0F) SO DB Eéof DAFPTA GHOBTACTTD. 3 DT
080D, DB D VATV arBotiots.
47,57, 61,73,

Options :

Lx 47



57
2.¥

, = 01

4% 13

Question Number : 44 Question Id : 7473902367 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Coding and Decoding Questions §&ofh 208030 &8 Eoh ESUSIGY
Code Pattern §& dsororen
Note:

The following question use a different coding pattern. Identify the pattern and answer

the question.

QATSR:- $08 AN VB SO DBLWD E'¢0h JAPTRA &HOITATTH. 3 DAPT R

0800, 0%) D DIrTEo '2-2&.‘}50&.
FYSALABAD is coded as 8 and ISLAMABADH as 9, then what 1s the code for
ZAAHEERABAD?
FYSALABAD & 8 e, ISLAMABADH & 9 70 §& L_Dﬁf\j ZAAHEERABAD
& e 6 D E?

Options :

8

1. %

4.33 11

Question Number : 45 Question Id : 7473902368 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Coding and Decoding Questions o 208030 G&'Goh (SIS UNICIY
Code Pattern §& Saarren
Note:

The following question uses a different coding pattern. Identify the pattern and

answer the question.

AT S0d AN %) D DB(D §'GoA HAPT R GOBTAEEE. €8 DA
800, 0#) D DIrTrRo @b&o&

LOSE 1s coded as 1357 and GAIN is coded as 2468, what do the figures 84615 stand
tor?
LOSE Q) 13571 0005 GAIN Q2468 ™ §°6 T R, 8461500250 B
QT ON?

Options :

|« LANES

, » SLAIN

. » NAILS

SNAIL

4. %
Is Section Default? : null

Question Id : 7473902369 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 48)



Coding and Decoding Problems: ~ §dof 2080k 68 Goh Dargen
Code Pattern: §& dAaroren
Note:

The following questions use a definite coding pattern. Identify the pattern and answer the

questions from 46 to 48.
ES A TE

S0 QAN :@%ﬂluéﬁ DONSD E'G0H DATPT R EDWIACTTE. €3 AP (DB
46 Q0oC 48 HODH WA DF) VDO 2TED AD(0C

Sub questions

Question Number : 46 Question Id : 7473902370 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Each n'® letter in English alphabet is coded as (n+10)® (Modulus 26) letter. Reverse
process 1s used for decoding. Using this coding and decoding process, answer the
questions.

808 esof 9E6HT0 5° HA n D @WE6o ( n+10) (modulus 26) S wEdore EE
BoDLCEIHS. G oM D5’ HEaH &HNWBIAoerdd. & §doh,

GECoh HI0HLOD SDATACD VB VD BT AV,

ABSENT is coded as
ABSENT % §&

Options :
KLCOXE
1. %
KLCOYD
2. %
, » KLCPXD

i KLCOXD

Question Number : 47 Question Id : 7473902371 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Each n™ letter in English alphabet is coded as (n+10)™ (Modulus 26) letter. Reverse
process 1s used for decoding. Using this coding and decoding process. answer the
questions.

S08 es0(f 9EEITL &5°D DA n D @E6o ( n+10) (modulus 26) S wEdorr E&
BODLEIHS. G §Eor D5’ HEAH EDMBrAoerd. & §oh,

GEGoh NSOV EHALTACD VF) VL BTED VI0E.

How many vowels are coded as vowels?
€930\ ¢ BORIGMD ENED D) ?

Options :

1. ® 1

Question Number : 48 Question Id : 7473902372 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If “SEDATIVE” is Pain “SOLACE” is to ?
" SEDATIVE " @38 ') § @ona " SOLACE " B8S...2

Options :

Kill - <50

1. ®

Grief — €20
2. %

5« Hurt - 220)080 0P
Irritation — )33
4.

Is Section Default? : null

Question Id : 7473902373 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)



Problem solving: 070 D8I o
Sequence and series: 09GP0 B0 Fewen
Analogies : F B e

Note: - In each of the following questions from 49 to 51 a sequence of numbers or letters that
tollow a definite pattern 1s given. Each question has a blank space. This has to be filled with
the correct answer from the four given answers to complete the sequence without breaking

pattern.
ArSd: - Sod NS DA DB) 49 ol 51 &5 FLND RODILD T, VLT T 28

S0EMD DA FERWT) 0. DS VF) &' a9 FAND TD DRSO ok
280D waTren leg D 9S8 AoRATAS Forfo Sorislot a3 rdotiol.

Sub questions

Question Number : 49 Question Id : 7473902374 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

45,40, 34. 27, 19.

Options :

1. ® 12
2. ® 9

11

3 %

4v 10

Question Number : 50 Question Id : 7473902375 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

2,6, 18, 54,
Options :

v 162
, % 164
% 152

L« 154

Question Number : 51 Question Id : 7473902376 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

ECA, JHF, OMK, .
Options :

|« PRT



, » TPR
3. % TRE
4.4 IRP

Is Section Default? : null

Question Id : 7473902377 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)

Date, Time and Arrangements problems:
B, D0oD0 83D evds R0 e
Note : -

The following questions from 52 to 55 are related to Date, Time and Arrangements

problems.
APIR: -

Sods faﬂ)‘)é 52 Aot 55 6 PEFyeo B8, dAvodo Hdain wDESw ESESRIS G

202050 DD.

Sub questions

Question Number : 52 Question Id : 7473902378 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

At what time. between 1:30 pm and 2:00 pm will both hands of a clock be at right

angle?
1.30 pm 208030 2.00 pm 206§ KA a3 50e5°D Bokd DTy DD Uoméﬁwbl

DS\ GOFon?
Options :

57— Minutes past 1.00 1 — 57
11 11

52 L N ceona _emg
53 o Minutes past 1.00 1 — 53 -



54 -2 Minutes past 1.00 1-543_
11 11
3. ¢

o v n— e, R
) 56 — Mmutes past 1.00 1 56 =
4.

Question Number : 53 Question Id : 7473902379 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the fifth day of a month is Sunday, which will be the fourth day from 23 of that

month?

208 Do’ 55 02 e3BT G0 9003, €3 DS’ 23 Stared Treniis O D&?

Options :

. Tuesday - ONF GO
1

L Monday - &S0

Wednesday - 20¢°G0
3. %

L Saturday - 4030

Question Number : 54 Question Id : 7473902380 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ravi has come to a meeting 45 minutes late but 33 minutes before the arrival of Srinivas
who has arrived 56 minutes later than Ramana. If Ramana came to the meeting at
11.07 am the meeting 1s scheduled at

6D QoA 45 DY VDT JEPYED. 572 VTV Yo 33 Aire Do)
STy, 62083 S0l 56 DT RO FIT°D JHT°\D. Baes extdodo 11.07 am

DAFDTRAS D) WVATDB i}gé 200300 Doeh?
Options :
| % 11.25 am

, » 11.00 am

J 10.30 am

4o 10.45 am



Question Number : 55 Question Id : 7473902381 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Somalatha says Prasad’s grandfather is the only son of my father. How 1s Somalatha related
to Prasad?

DO TS AT TA) D 28 FHDH WY Jud ddyod. Jed , PFE D
DBV ?

Options :
Daughter - $5°¢50¢%0
1. ®

Sister — PO

2. %
s Niece — 0S88%%en

. Grand Mother — @953 03]

Is Section Default? : null

Question Id : 7473902382 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)

Problem solving : 202 bﬁﬂ“bﬁo
Data Analysis : $@°0% D3Qe
Table or Graph: HES Jor Tr

The following table shows the production of cars by a company from the year 2015 to 2020.
Read the table and answer the questions from 56 to 60.

208 DO 2015 Dod 2020 SBD S0 TG &5\AD TWPDROB. DS WEHEDHDO B

B3N 56-60 DB VO VDAL o Q:‘}SO&'

Type($80)
/Year(c00s0¢%)O0) A B i D E
2015 10 24 32 28 36
2016 16 26 30 36 40
2 20 22 28 32 38
2018 24 20 26 30 32
2019 28 24 32 34 42
2020 42 36 34 38 44

Sub questions



Question Number : 56 Question Id : 7473902383 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ratio of type B and type D cars produced in 2018
201865’ €5¢6 )€ TWOH22ES B 880 HBAM D 80 528 AN )€

—a

Options :

| % 32

Question Number : 57 Question Id : 7473902384 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which type maximum number of cars produced during 2015-20207?
2015-2020 © €5 &) 350 & KORNOMT eseh 18D 9GS SO

Options :

1. ® C
2.$3D

3¢ E

4_$3B

Question Number : 58 Question Id : 7473902385 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ratio of Type A and Type E cars produced i the year 2020 1s

2020 HOSB5 B0 eed 1€ TANDGS A 30 HOAW E 880 58 DA e
Options :

L% 4:5

-~ 8:11

8:13

3. %

L, 1011

Question Number : 59 Question Id : 7473902386 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What 1s the total number of cars produced during the year 20207
2020 “@o;ﬁeﬁsdotﬁa &5\3 BODED Ao 5°F Do) Dod?

Options :

L v 184
, % 204

4« 194

Question Number : 60 Question Id : 7473902387 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which year, maximum number of cars are produced?
D ‘rbo:}e:&;)cioeﬁ'e S(BS ‘r’ooaaée‘iﬁ 5 &3O Sobesran?

Options :

|« 2017

2019

2. %

. 2018

4 v 2020
Is Section Default? : null

Question Id : 7473902388 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (61 to 65)



Problem solving : oS a)Oax). S0
Data Analysis : OF°04 D3A€d

Bar Diagram or Pie chart : 25°0 [T [ s irs |50

ppam. |
e

The following Pie-Chart shows the percentage of expenditure incurred i publishing a book

Read the Pie-chart and answer the questions 61 — 65.
S8 -t s YIS DDBOSLEAS 901[ HEIN TTR)) Lredted. P-T°E

e9¢3(050R0 D Sod 61- 65 0%) 0D DIATFTFRo fabsoé.

Printing
Cost 202,

Binding 20% Paper Cost 25%

Sub questions

Question Number : 61 Question Id : 7473902389 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For a certain quantity of books, the publisher has to pay Rs 30600 as printing cost.

then what will be the amount pavable as royalty for these books on total cost.

Z}g::g DBAE085° DTV §'%o. D0Beass Sgies T 6. 30,600 B8otd,

WD & VSV DEND T B3Py ko Doth?
Options :

Rs. 19450
1. %
, « Rs.21200

. » Rs. 22950

, » Rs.26150



Question Number : 62 Question Id : 7473902390 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the central angle of the sector to the expenditure incurred on Royalty?

OO D TOYOT SATIE DTS Ty, o §eao e

Options :
u 15

240
z.ﬁ‘d'

10
3.\_?54

4w 48°

Question Number : 63 Question Id : 7473902391 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If 5500 copies of a book are published with transportation cost of Rs. 82500, then.
what should be the selling price of the book with profit of 25% on total cost?

2ED¥ w8 PRS0 ciwg); 5500 sFaeD Dot TP Sarer ENE. 82500
WALICRL0DS, €IRD G D{0T0g 25% erdo Jorreotl DR SVORLRVESS))
&8 doth Sord?

Options :

L Rs.187.50

, » Rs.191.50

Rs.175
3. %

.« Rs. 180

Question Number : 64 Question Id : 7473902392 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The price of the book is quoted 20% above the cost price. if the quoted price of the
book is Rs. 180, then what is the cost of the paper used in a single copy of the
book?

DRG0 GG DSES GBS S0l 20% QS OTT° S0HeIC08. DS ass); DS S G,
180 e90d, VLo o30S, 28 5°0065° EDWIrAoDD St S6 doch?

Options :

|« Rs.36



.« Rs4425

Question Number : 65 Question Id : 7473902393 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
How much less percentage 1s the royalty on the book than the printing cost?
QDG AN Soé3 VS0 U"O‘.’D% DN dod TS0 S8 37?7
Options :
5%

1.

33V/

%

h

-2

0%
4w 25%

Is Section Default? : null

Question Number : 66 Question Id : 7473902394 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems 86, 2ay0ie So8akw @850 DD

Which symbols have to be interchanged to equate the following?
12-2+3 x4 +4 =14
3o HASCET) Do BONEAS O D) O DB Bo JrENETd?

12-2+3 x 4 +4=14
Options :

C—fand ‘=’

e S0005m

R
‘“+” and ‘-
,x iyblelenh ot

‘x” and ‘-

‘X’ o DO

3. %



‘“+’ and ‘x’

“+ B8O X

4. %

Question Number : 67 Question Id : 7473902395 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time, and Arrangements problems @&, D000 08030 8% ‘&)3‘.’)3#059.1.)

What dates of July 1995 did Friday fall?

2 199565° 30g6o @ Bdwe” Hoeyaw?

Options :

« 06,13,20,27
1.

03,10,17,24
2. %

07, 14,21, 28
3. ¥

4 » 04,11, 18,25

Question Number : 68 Question Id : 7473902396 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems &8, oo 0805w edge DG

If ‘x” denotes addition (+), v’ denotes multiplication (x), ‘z’ denotes subtraction (-) and
‘p’ denotes division(+), Then * 6y10p2x5z8 is equal to”

)’ "rOOSE.JI}“:)‘l(+) AP, Y mmwﬁl(x), ' :)5;559@2)1(-), ‘P DO
(+)R0rQodT 3Dy " 6y10p2x528”" ____ £ d:dodo.

Options :

_ » B8

2.9 27

. 30

44

4.%

Question Number : 69 Question Id : 7473902397 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Date, Time and Arrangements problems 38, 20050, 805 esudger DD

What 1s the angle between the minutes hand and hours hand when the time shown in the
clock 1s 5.30 pm?

HA I EAeS” Hvae Jabogse 5.30 ﬁPﬁ}oaé@DdJ QBVIL ALK Hfotoe)

20D H0es§ Eea0 dodh?
Options :

20
1. ¢ 15

Question Number : 70 Question Id : 7473902398 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time, and Arrangements problems &8, 2ok, 080k e85 DBV

27

The number of seconds in 10/15 of an hour 1s

208 (ot &5° 15/10 e’ DSog Roa) £

Options :

|, 2200
L » 2400

.« 2100

L % 2500

Question Number : 71 Question Id : 7473902399 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems &, 20030, 080w 9850 "na;j.)*rbéw

Which of the following 1s a Leap Year?

21806 37365 O D035 IBXD DE?

Options :



w2007
, » 2016
5 % 2001

1997

4.%

Question Number : 72 Question Id : 7473902400 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems &6 OO sDOAN 96085 s e

Pointing to a person, a man said to a woman, "His mother is the only daughter of your

father." How was the woman related to the person?

2,8 5580 TN, 2.8 [N & Q0T 558 er ) & "e9edd SO
SO 8 IBE E5e50." €3 2,8 958 €3 | R DENS0ES HoDOE 257050 EOR
€s0CNDOL?

Options :

/ r— @9ed
L Aunty — @e2
- Mother — @2:%]

Wife — 2335
3. %

L Daughter — $3°¢5¢0

Question Number : 73 Question Id : 7473902401 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Date, Time and Arrangements problems &6, s0ONO sHOTIN @s0OEE Haddd5e0

A. B. C. D and E are sitting on a bench. A 1s sitting next to B, C 1s sitting next to D, D 1s
not sitting with E who 1s on the left end of the bench. C is on the second position from the
right. A 1s to the right of B and E. A and C are sitting together. In which position A 1s
sitting?

A, B, C, D S08050E 8 B80S P &r8\D &) h. B 800 A &r83\D &), D
SOTS C ErB\D &) (0. DEDD DIBIDIND DD &r& D &) E & D &r8y\D
S0, C HADKD 08 Bottsd F008” &) €. B 208050 E 050 D& Dipd A 637 €0,

A So8ain C 28 <8 (52) &) . A E“Pd{)"‘j‘l g"c‘»ﬁo E?
Options :

Between B and D — B s08ai» D SﬁJCﬁ?S

1. ®

L Between B and C - B &08ain C :13(,‘35

- Between E and D - E s06a3» D :3::{;':5

L Between C and E - C s08a30 E .;h}c;’)?s

Question Number : 74 Question Id : 7473902402 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems @&, ds00io, So8ain evsndse 0D

On 8th Dec, 2007 Saturday falls. Which day of the week was 1t on 8th Dec. 20067
8 G026, 2007 DTG0 HRW0d. 8 Goedd 2006 & T°Goes” O Fer H0od?

Options :

a Sunday — €3&*G0
. Thursday — DTG0
Tuesday — s O E0
3. %

- Friday — ®(8§5°80



Question Number : 75 Question Id : 7473902403 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems B&, 20030, 08050 90850 R0

Three times the first of three consecutive odd integers is 3 more than twice the third.
The third integer is:

ST DR 83 RToSTLe” AV D0 BeD 3 HrEdHTE) S0l och Tt

DS D. AT QY ToSo:

Options :
. 9

1. %
5 % 11
Lx 13
4. 15

Communication Ability
Section Id : 74739035
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 54
Section Marks : 70
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 76 Question Id : 7473902404 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning: Nomadic

Options :
| » Naked

, » Noisy

s v Wandering

_ Unknown
4 %

Question Number : 77 Question Id : 7473902405 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Fill in the blank by choosing the correct meaning:
Options :

. The lion its prey.
1 ® —s :

- Sympathized

; % Angered

L Protested

Question Number : 78 Question Id : 7473902406 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
Inertia

Options :

L% Smartness

Sluggishness
o4
L Thoroughness

4 » Meanness

Question Number : 79 Question Id : 7473902407 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
Foliage

Options :

| « Edition

- TLeaves

Autumn

~ Foolish
4. %

Question Number : 80 Question Id : 7473902408 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:

Lucid
Options :

v Clear



- Blurred

Darkened

3. %

~ Confused
4. %

Question Number : 81 Question Id : 7473902409 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:

Dynamic
Options :
Changing
1L

|« Static
; » Inflexible

_ Inactive
4. %

Question Number : 82 Question Id : 7473902410 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
Menace
Options :

Armour
1. %

Threatening
2. ¢ &

Axil

.« Mild

Question Number : 83 Question Id : 7473902411 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
“To endorse’ is to

Options :
| = Reprove

- Approve



Intinudate

Rectify

Question Number : 84 Question Id : 7473902412 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
Alleviate
Options :

- Deviate

- Lessen
~ Enhance
3. &

4% Invite

Question Number : 85 Question Id : 7473902413 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
Cumulative
Options :

. Disconnected
1.
, » Disintegrated

, » Combined

Confused

4. %

Question Number : 86 Question Id : 7473902414 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
Intimidate
Options :

| % Consult

, v Humiliate

~ Update
3. %

, » Undergo



Question Number : 87 Question Id : 7473902415 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the antonym
Fascinating
Options :

| = Aftractive
, v Boring
- Vibrant

~ Interesting
4. % 5

Question Number : 88 Question Id : 7473902416 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the antonym:
Exit

Options :

L Enter

, » Excite

, » Execute

L% Entice

Question Number : 89 Question Id : 7473902417 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym:
Diligent

Options :

L Conscientious

, « Careless
, » Confused

~ Combined
4 %

Question Number : 90 Question Id : 7473902418 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the synonym
Fastidious:
Options :
Meticulous
1.v

S Negligent

, « Careless

Indisciplined
4. %

Is Section Default? : null

Question Number : 91 Question Id : 7473902419 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
A record of the money that other people and businesses owe to you is called
as

Options :

Accounts receivable
1. ¢

., Accounts payable
2.

. Capital

e Margin

Question Number : 92 Question Id : 7473902420 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
A timeline that is too short and doesn’t provide enough room to get everything
is completed is called as

Options :
|« Aggressive timeline

, » Intensive timeline

- Congested timeline

Circle back
4. %



Question Number : 93 Question Id : 7473902421 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
The process by which you measure performance of a company’s product
against best in the industry is

Options :

. SWOT

~ Metrics
2. ®

Core competency
3. %

= z G
v Benchmarking

Question Number : 94 Question Id : 7473902422 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

A computer that has been hijacked by a hacker without the owner’s knowledge
and used to perform malicious tasks on the internet.
Options :
Zombie

, » Malware

Virus
3. &

Firewall

Question Number : 95 Question Id : 7473902423 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
The key that uniquely identifies each tuple or row in a table is the

Options :
Primary Key

Secondary Key
2. ¥

Plug-in Key



Prompt Key
4. %

Question Number : 96 Question Id : 7473902424 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer
A light sensitive style for forming graphics by touching coordinates on a display
screen to draw directly on the screen:

Options :

LINK Pen
1. %

LINUX

2. %

LIGHT Pen

3.9

L Stylus

Question Number : 97 Question Id : 7473902425 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
‘Blue chip’ refers to

Options :

- The most reliable companies

Companies with account scandals
2. %

« C ompanies refusing to pay debts
3.

Asset misappropriation by companies
4. %

Question Number : 98 Question Id : 7473902426 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
‘Start Up’ may be defined as

Options :

Forward thinking business
1.¢

Conventional business

Hereditary business



4 » Arrangement in order of rank

Question Number : 99 Question Id : 7473902427 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
Laissez-faire policy is
Options :

- Least corruption i business
. Private business with government control

Ideal business run by women

, » Private business without government control

Question Number : 100 Question Id : 7473902428 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
If GDP is bigger this year than last year, then India is experiencing
Options :

, Economic growth
1.

Fluctuations in economy

L Economic depression

~ Price rise
4. %

Question Number : 101 Question Id : 7473902429 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
Avatar is

Options :
s Incarnation

Film producer
2. %

. Resurrection
3.



Online character
4

Question Number : 102 Question Id : 7473902430 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
BCC is used for
Options :
Sending a message to more than one person while hiding the E- mail addresses of
L others from each recipient

Hiding the E-mail address of the sender
2. %

Identifying illegible carbon copy

, » Sending E-mail only to one person

Question Number : 103 Question Id : 7473902431 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
‘Blog’ is a short form of:
Options :
Be logical
1. % =

- Bing log

, v Weblog

, » Belogged in

Question Number : 104 Question Id : 7473902432 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
The range of Bluetooth connection is approximately

Options :

|« 100 feet

5 30 feet

;= 500 feet

4 = 10 feet



Question Number : 105 Question Id : 7473902433 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
Which of the following is not a programming language?

Options :
1. # g

) Laser

; » Python

4« Java

Is Section Default? : null

Question Number : 106 Question Id : 7473902434 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change the voice:

How do people learn languages?
Options :

- How are people learning languages?

, How languages were learnt by people?
2.

How are languages learnt by people?
3.¢

L How people learn languages?

Question Number : 107 Question Id : 7473902435 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer:
The meaning of the phrase, “to put in a good word for”

Options :

L Make a favourable recommendation

- Negative remark

v Teach me a good word a day

L Inappropriate comment

Question Number : 108 Question Id : 7473902436 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the appropriate answer:

The meaning of the idiom, “To keep at arm’s length”
Options :
_x To avoid touching someone

- To trust a distant relative

;o 1O avoid being friendly

% 10O keep contact with old friends

Question Number : 109 Question Id : 7473902437 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer:

The meaning of the idiom “A bolt from the blue”
Options :

| « Lightening in the sky

Tidal waves
2. %
- Complete surprise

, « Long awaited event

Question Number : 110 Question Id : 7473902438 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change into indirect speech:
“We’ll be there tomorrow.”
Options :

. =« They say on the next day they are there

- They promised that they will be there tomorrow

, » They wanted to be there tomorrow

i They promised to be there the next day

Question Number : 111 Question Id : 7473902439 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change into exclamatory sentence:
It was a waste of time.
Options :



v What a waste of time 1t was!

, » What a waste of time it is!

w How a waste of tiume 1t was!

What a waste of time 1t will be!

Question Number : 112 Question Id : 7473902440 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the correct sentence:
Options :

| » Can you get another three packets of butter?

, » Canyou get other three packets of butter?

, » Canyou got another three packets of butter?

L Can you get another three packet of butter?

Question Number : 113 Question Id : 7473902441 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the correct sentence:
Options :
. My youngest brother is medical student.

, » My youngest brother i1s a medical student

My voungest brother a medical student
®

, My voungest brother is student of medical

Question Number : 114 Question Id : 7473902442 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the right word
He reading for two hours:

Options :

. Has been

, % I8



Have been

4. ® Had

Question Number : 115 Question Id : 7473902443 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill the blank by choosing the right word:
If he had had the money, he bought a Ferrari.

Options :

;= Would

- Would have been

, » Would be

L Would have

Question Number : 116 Question Id : 7473902444 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the right word:
It is as easy to smile as

Options :

- Frowning

_ Frowned
2. %

3 v Frown

~ Frowns
4. %

Question Number : 117 Question Id : 7473902445 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the right word
Either he or I going to do that.
Options :

Is



Question Number : 118 Question Id : 7473902446 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate answer.
There are many to the Mahabharatha in our daily conversation.

Options :
- Delusions

~ Ilusions
2. &
s v Allusions

, « Elusions

Question Number : 119 Question Id : 7473902447 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate answer:
To be or not to be that is the .

Options :
Question
1.

~ Answer
2. %
, » Problem

_ Confusion.
4. %

Question Number : 120 Question Id : 7473902448 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Antonym of ‘irritate’
Options :
| » Displease

 Frustrate
2. %

3 v Placate

, « Annoy

Question Number : 121 Question Id : 7473902449 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Fill in the blank by choosing the appropriate preposition:
He achieved what others might have only dreamt

Options :

L= 1o

, «» with

by

3.% 72

4. v of

Question Number : 122 Question Id : 7473902450 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change the voice of the following:

His friend said, “You may do it tomorrow.”
Options :
- His friend told him to do it as tomorrow.

- His friend told him that he might do it the next day.

- His friend asked him tomorrow to do it.

, » His fiiend tomorrow asked him to do it.

Question Number : 123 Question Id : 7473902451 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change the voice of the following:
He prayed that God might save the country.

Options :
, He asked God, “may save the country”.

. He asked, “ save God the country™.
2.

He said, “God save the country™.
3. ¢

. He said. «“ Country God, save.”
4.

Question Number : 124 Question Id : 7473902452 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change the voice of the following:
“Keep quiet™, the teacher said to the students.
Options :



The teacher was asked to keep quiet the students.

. The teacher asked the students to keep quuet.
2. wi’

The teacher asked the students to quiet keep.

The teacher said the students to keep quuet.

Question Number : 125 Question Id : 7473902453 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change the voice of the following:
Nobody told me about her.

Options :

. Nobody were told me about her.

, « Nobody was about her told me.

I was told nobody about her.
3. %

, » 1was not told by anybody about her.

Is Section Default? : null

Question Id : 7473902454 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (126 to 130)

Read the following Passage and answer the Questions (126-130) given below:

The professor more than anv other person finds himself shut out from the
general society of the business world. The rest of the interests have. after all. some
things in common. The circles intersect at various points. Iron and steel have a
certain fellowship with pulp and paper, and the whole lot of them may be converted
into the common ground of preference shares and common stock. But the professor
1s to all of them an outsider. Hence his natural dissimilarity 1s unduly heightened in
its appearance by the sort of a vocational isolation in which he lives. Let us work
turther into the status and setting of the man. To begin with. history has been hard
upon him. For some reason the strenuous men of activity and success in the drama
of life have felt an instinctive scorn of the academic class, which they have been at
no pains to conceal. Bismarck knew of no more bitter taunt to throw at the Free
Trade economists of England than to say they were professors. Napoleon felt a
lifelong abhorrence of the class, broken only by one brief experience that ended n
tailure. He invited sixty five professors to his palace, but at the end of half an hour
Napoleon had had enough of the professors. “Put them all out”. he cried and never
again were they admitted mnto his presence.

Sub questions



Question Number : 126 Question Id : 7473902455 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The professor strikes a note of with the world outside.
Options :
| v Discord

., Concord
; » Consensus

z s
4% Union

Question Number : 127 Question Id : 7473902456 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The isolation of the professor is
Options :
L x Commercial

- Inbom
_ Pretended
3. &

, = Professional

Question Number : 128 Question Id : 7473902457 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

People of worldly success have the professors.
Options :
Shunned
4

_ Praised

Killed

, « Felicitated

Question Number : 129 Question Id : 7473902458 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bismarck the professors.
Options :

.« Liked



Disliked
2.
3 % Imprisoned

4 » Murdered

Question Number : 130 Question Id : 7473902459 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Napoleon’s experience with the professors ended in nothing but s

Options :

- Happiness

, » Bifterness

- Diplomacy

4 % Amity

Is Section Default? : null

Question Id : 7473902460 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (131 to 135)



Read the following Passage and answer the Questions (131-135) given below:

There are basically three choices available to you when trying to influence
people. The first 1s to i1gnore people and simply hope they will act in your best
interest. You probably will agree that this is not a very practical option, since the
results can be neither effective nor predictable. By ignoring other people. vou are
giving up any hope of influencing them and thus are suwrrendering yourself to the
whims of fate. In effect, you are saying to the world, “T will leave you alone and, in
return. I want you to do what I want”, a naive and unrealistic expectation.

The second option is to use coercion and force to compel others to act in the
specific way vou desire. The use of threats and intimidation may produce results, at
least in the short term. Fear-inducing tactics, however, never bring out the best m
the people, since people themselves must be the driving force behind their
motivation if they are to put their hearts and souls into what they are doing. Fear
torces people to operate m a survival mode. They may follow your mstructions and
orders to the letter. but seldom will they contribute any real energy or enthusiasm to
their efforts.

The third option is to persuade people to do what you want them to do simply
because they really want to. People will do what you want them to do willingly in
direct proportion to how they see their self-interest being served. In other words,
you must convince people that they will receive real benefits and rewards if they
tollow the path vou are suggesting. These benefits must be something the other
party understands and inherently wants, for whatever reason. In effect, you are
offering a reward that 1s valued by others in exchange for a reward that 1s valued by
you. The highest reward you can offer people is to provide them with opportunities
to maximize their full potential.

Sub questions

Question Number : 131 Question Id : 7473902461 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

By ignoring people and hoping they will act in our best interests, we are
Options :

- Adopting a practical and fruitful approach

Harming our self-interest

Stifling our personality
3. %

P Beimng unrealistic and simple
4.

Question Number : 132 Question Id : 7473902462 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The use of compulsion and intimidation in our dealings with others produces

Options :



L Far reaching results
, « Entirely satisfactory results

s » Only limited and short-term Results

, » Alot of goodwill

Question Number : 133 Question Id : 7473902463 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Work done under compulsion or coercion tend to be marked by
Options :
- Utmost sincerity and devotion

- Devoid of zeal or fervor

. Abundance of spirit
3.

L High rate of efficiency

Question Number : 134 Question Id : 7473902464 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The best way to get things done by people is to
Options :

- Force them to do 1t

. Tell them to do 1t

2.
Make them socially conscious
3.
. Convince them that they stand to gain by doing 1t
4o

Question Number : 135 Question Id : 7473902465 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The highest reward we can offer people for the work they do for us is
Options :

- To pay them handsomely

To praise them lavishly
2. %



To provide them with opportunity to bring out the best in themselves
3.

L Show utmost concern for their well-being

Is Section Default? : null

Question Id : 7473902466 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (136 to 140)

Read the following Passage and answer the Questions (136-140) given below:

The Recording Industry Association of America (RIAA) estimates music piracy
1s the source of over four billion dollars each year i lost profits. Though music
piracy 1s a general term that encompasses a broad array of illegal practices
mnvolving the duplication and distribution of recorded music (such as counterfeiting
and bootlegging for personal monetary profit), the one area of piracy that occupies
the majority of the nation’s attention is the contentious practice of music file sharing
on peer-to-peer (P2P) websites. Despite the RIAA’s recent crackdown on illegal
file-sharing by levying heavy fines against offenders, P2P websites are still thriving.
Though there 1s a small minority of the file-sharing population who truly believe
they should not have to pay to listen to their favorite music, this percentage hardly
occupies the lion’s share of illegal down loaders. So why are so many people
breaking the law? RIAA equates the illegal downloading of an album of music to
the act of shop lifting that same album from a record store, and they have a logically
sound argument. However, the dubious act of physically pilfering something from a
record store, and all the tangible consequences it entails, is hardly present in the
action of pressing a keyboard button from the repose of one’s home.

Sub questions

Question Number : 136 Question Id : 7473902467 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The author’s primary purpose is to
Options :
- Explain an illegal practice

- Offer an extraordinary insight

; » Give irrelevant facts for music piracy.

L Challenge a popular opinion

Question Number : 137 Question Id : 7473902468 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Repose, as used in the last line of the passage

Options :



- Stress

, » Anonymity
, » Obviousness

i Tranquility

Question Number : 138 Question Id : 7473902469 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The meaning of shop lifting as used in the passage.
Options :

Transferring the shop from one place to another
- Stealing goods from the shop without any payment
Moving goods from one store to another store

L Opening the shutter of the shop.

Question Number : 139 Question Id : 7473902470 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

RIAA estimated the music piracy loss at
Options :
| = Less than 4 billion dollars

4 billion dollars
2. %

More than 4 billion dollars
3. ¢

, » Less than or equal to 4 billion dollars

Question Number : 140 Question Id : 7473902471 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is a P2P website.
Options :

It 1s a music website
1.«

- It is an online lending platform



L It 1s a commercial bank

e It 1s an msurance company

Is Section Default? : null

Question Id : 7473902472 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)
Read the following Passage and answer the Questions (141-145) given below:

The mmportance of data visualization 1s simple: it helps people see, interact with,
and better understand data. Whether simple or complex, the right visualization can
bring everyone on the same page, regardless of their level of expertise.

While we’ll always wax poetically about data visualization, there are practical,

real-life applications that are undeniable. And, since visualization 1s so prolific, it’s
also one of the most useful professional skills to develop. The better you can convey
your points visually, whether in a dashboard or a slide deck, the better vou can
leverage that mmformation. The concept of the citizen data scientist is on the rise.
Skill sets are changing to accommodate a data-driven world. It is increasingly
valuable for professionals to be able to use data to make decisions and use visuals to
tell stories of when data informs the who. what, when, where, and how.

While traditional education typically draws a distinct line between creative
storytelling and technical analysis, the modern professional world also values those
who can cross between the two: data visualization sits right in the middle of

analysis and visual storytelling.
Sub questions
Question Number : 141 Question Id : 7473902473 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Wax poetically, means
Options :
A literary term used in poems
1. ®

, x IO talk about wax in a poetic fashion
s To talk greatly about something

, » Lo talk easily about something

Question Number : 142 Question Id : 7473902474 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Data Visualization

Options :



Is a combination of data and decisions.

, » Uses data with visuals.

Is a mix of data interpretation and visual narration.
3.

, » Isright in the middle of analysis.

Question Number : 143 Question Id : 7473902475 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Same page, in Paragraph 1 means
Options :

All the data present in the pages

. All the visuals present in the pages
2.

, » All the people present in the pages

. Similar mnferpretation

Question Number : 144 Question Id : 7473902476 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If we convey information visually
Options :
It attracts the user

, » 1t benefits the presenter and the user

- It maximizes the data

,ox It improves presentation skills

Question Number : 145 Question Id : 7473902477 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Old education system
Options :

Treated creativity and analysis separately
. Treated creativity and analysis together
2.

, » Gave importance only to story telling



Gave immportance only to visualization

4. ®
Mathematical Ability

Section Id : 74739036

Section Number : 3

Mandatory or Optional : Mandatory

Number of Questions : 55

Section Marks : 55

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0
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Question Number : 146 Question Id : 7473902478 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%5e¢5 a0 d50

3a
n{l} =0.008, then (0.25)" =....

3a
l =0.008 @ond (0.25)" =....
J

Options :

L
Lx

2 | =

Question Number : 147 Question Id : 7473902479 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©085e3e¢5 a0 50

v2.25
y/0.0001

Options :
15

1. ®



1.5

, » 150

0.15

Question Number : 148 Question Id : 7473902480 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @055e5e5 0050

Options :
| » 12

8

2. %

3 % 15

, v 10

Question Number : 149 Question Id : 7473902481 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©08e3¢5 Jra50

Ifaz‘?,then\/l—kaﬂ—\/l—a:

az%@—_ﬂimﬁ)\fl+a+\fl—a:

Options :

23

1%

2. ¥ V3

3. % ]
2+\/§

4, %

Question Number : 150 Question Id : 7473902482 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - ©9089e3¢5 e 50

The greatest four digit number which is exactly divisibly by each one of the numbers
12,18,21,28 is

12,18,21,28 DOWEDOS (D63 2,8), IS DT IBOMT 2rRONDE €963
0 0D 0T HoB§ IE?

Options :
|« 9288

- 9882

3 9828

9928

4.%

Question Number : 151 Question Id : 7473902483 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @035(ie3ed rad50

L.C.M.ofg,i,; is
396

2 45
g P
306

Options :

| b2

Question Number : 152 Question Id : 7473902484 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @085e3¢5 0050

The LCM of 6%, 82 and k is 12%, where k is a positive integer. Find the smallest value of k?

6. 82 k © & . 12 @ond k 058 daredd Srgrodsm esohddS k
O35 B DN DOCS?

Options :

64
1. #

32

2. %

128

3. %

256
4. ¢

Question Number : 153 Question Id : 7473902485 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @08e3¢5 Jre050
The least perfect square number divisible by 3,4,5,6 and 8 is

3,4,5,6 DO 8 © & 2rA0NDT @& DS HOIY 5 dowg
Options :
|« 2500

1200

2. %

L« 900

L 3600

Question Number : 154 Question Id : 7473902486 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%ieded a0Qs0

\f5+\/11+\/19+\/29+\@ =

Options :
1. % 6

2. %

3. ¢



Question Number : 155 Question Id : 7473902487 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0&Heded a0Qs0
If 2x = 3y = 4z, thenx:y:z =

2x =3y =4z @000 x:y:z =
Options :

L 6:4:3

2:3:4

2. %

4:2:3

3. %

3:4:6
4. %

Question Number : 156 Question Id : 7473902488 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @05e3¢5 20050
A sum of money is to be distributed among P,Q and R in the ratio of 6:19:7. IfR
gives Rs. 200 from his share to Q, the ratio of P.Q and R becomes 3:10:3, what 1s

the total sum ?

6:19:7 DAIDS’ 5220 DN P.Q DO R © s D0DES A0
&06. R ey oG Q § 8. 200 I . PQ «HOG™ R © DN 3:10:3
2959005, 0NN BNBO ¢h2)) D0e5?

Options :

., 6400
L 3200

1208
3. %

s » 4508

Question Number : 157 Question Id : 7473902489 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @0%%e3¢8 2rsody

The two numbers are in the ratio of 5:7. If the difference between them is 48. Then
the sum of numbers 1s

BOD DoWES AAE 5:7 DO € DOWSS 2335 48, 90N o3¢S
BB DOeh ?

Options :

208

1. ®

, % 228

289

3.8 7

L v 288

Question Number : 158 Question Id : 7473902490 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%H5e3¢% 0P 50
The speeds of three cars are in the ratio of 5:4:6. The ratio between the time taken

by them to travel the same distance 1s

S 58 DKo 5146 dADS  Goenod. 5% 28 Sr8o
1OSTESOTIERE O DO 6085 AN DOeh?

o

Options :

Question Number : 159 Question Id : 7473902491 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @085e3e5 20050

Reversing the digits of a two digit number 1s 9 less than 3 times of the original
number and 1f the difference of these two numbers 1s 45. Find the original number ?
AD)S BoBoES HoWESR 08BN BBKDB (TR ST Dows,
€90 DoP§E 0T 3 BEY S0P 9 502 DO €8 DOLD DOWE
23655300 45 @0, FI I DOWS DOEH?

Options :

% 12

Question Number : 160 Question Id : 7473902492 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @085e365 210050

; a7 2 .
The largest fraction amoung—,—,—,— 18
6 1218

i

b | b

; %% DS 963 DS DS 5w

L | b2
S|

Options :

W | 2

1. ®

, % 12

3.

Question Number : 161 Question Id : 7473902493 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - e08e3ed arsnd 50
If 60% of x 1s 30 less than 75% of x. then what is the value of x?
X & 60% DD, x 6 75% e F0T) 30 HH0Y ST &), X DENS? DO

Options :

200

600

2. %

Question Number : 162 Question Id : 7473902494 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - e08£365 20O 50
A has 20% more money than B and C has 20% less money than B. What percentage

of money does A have more than C?

A S B 30T 20% 05025 €820 &0 $DBOM C Q) B S0 20% 5509 o
520 &0O. A DD C 0T DOeh F°HO 522 B GOLNOE?

Options :

Le 0

, 1 17

Question Number : 163 Question Id : 7473902495 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @08ie3¢5 0050
3 2 5 th .
What is 25% of 36% of (E) of 4000 ?

4000 5% (E) 3065 &SP 36% 5 25% DOeh?
Options :
. 200



2. ®

4 % 350

Question Number : 164 Question Id : 7473902496 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - e903ie3¢d ey
The quoted price of an item is twice the cost price . Fora gain of 15% of the discount

should be
2,8 5N TWE (DS T, §S), T 0T B0 &06. 15% 3785550
T°3E09), Doed Troed HES0w ) 2

Options :
1.5%

43.5%

2. %

Question Number : 165 Question Id : 7473902497 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - e90%5e3¢8 eI 50
A loss of 19% on a belt gets converted into a profit of 17%, when the selling price 1s

increased by Rs. 162. What 1s the cost price of belt?

2,8 B @080 OB . 162 Eo T DO, 19% Saedw. 17%

3250 STOSE. D €8 23O ) I Does ?
Options :

360

1. ¥

- 450



Question Number : 166 Question Id : 7473902498 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @05ie3e5 Jre0P50

If the selling price of an article 1s 4/3 1d of its cost price then what is the profit
percentage in the transaction?

2,8 350 LIBT3 T T ¢ 4/3 H0ed &) , €725 TS0
00ed ?

Options :

16.75%
1. ®

20.50%

2. %

25.50%

33.33%
4.

Question Number : 167 Question Id : 7473902499 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @08e365 20050

Vishnu & Siddhi started a business by mvesting Rs. 27000 and Rs. 81000
respectively. In what ratio the profit earned after three years be divided between

them.

DR SHBAM A €0 HEST Rs. 27000 and Rs. 81000 € 2.8 a375575s5063
DEP2DETT DETR. o077 D035 )T ST 565 T D) €I I
2 AANE 5 HOTHE0ETE?

Options :

L x 211

3:



Question Number : 168 Question Id : 7473902500 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - e908£365 2 Q50

P, Q and R can complete a work separately in 16,32 and 48 days respectively. They
started work together. But Q leaving off 8 days and R. 6 days before the completion

of the work. In what time 1s the work finished?

2,8 HAJ P, Q SHOCM R €0 DADET SO 16, 32 0O 48 FarereS’
0 BAHHOR. HSNHBE EDD DA G0N0, ©ONS DA JJ°O
5°IEQE 8 F23°e0 SO Q, 6 T23°€2 SN0 R DA 70 3°¢%) . ),
232565 DS HQ S e00nSE?

Options :

1.J12

4 % 14

Question Number : 169 Question Id : 7473902501 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%{eSed rends0

‘A’ can finish a work in 8 days. ‘B’ 1s 60% more efficient than ‘A’. How many days
will ‘B’ take to complete the same work?

‘A’ 2,8 DA 8 FarereS 578 TovEerw. B’ , ‘A’ L0 60% 505
TG & DA TOWD. @D @ HAD B’ ) FerereS' 50
DONHEIERD?

Options :

1. % 6

2. % 4



Question Number : 170 Question Id : 7473902502 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%H5e3¢% 0P 50

In one minute, 2/5 of tank 1s filled. The rest of the tank can be filled in how many

minutes?
2.8 QXNE 2/5 & Hoedd & Do, WADS & DONETRE H
Qa0 ?

Options :

Im
1. ®

Question Number : 171 Question Id : 7473902503 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0&K5e3e¢s s

" : . " ; 1
A pump can fill a tank with water m 2 hours . Because of a leak, it took 2 5 hours

to fill the tank. The leak can drain all the water of the tank in how many hours.?

2,8 FEI 2.8 HoD) 2 03> DoDH . 3 eI K> OFed s 8e0mT e

3 21 HotrersS® Do) &, 530 Do&S $ O sSeom I

KoeredeS’ 5@ eoidain?
Options :

, % 12

; = 18



10

4.%

Question Number : 172 Question Id : 7473902504 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%5ed¢s P50

A 150 meter long train crosses a pole in 15 seconds and a train of same length coming
from opposite direction m 12 seconds. The speed of other train 1s
150 2D &%y B> Bew 15 DEoBS 28 Noerd)) OGS 12
E0BES” 5 Fhy €5d), DBV OFS DB HBE Bendd ¢308.
€95 )CR DO BED DO DOeH 2

Options :

Question Number : 173 Question Id : 7473902505 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - e085e3ed 050

The speed of a bus 1s 72 km/h. What 1s the distance covered by the bus in 5

seconds?

2,8 2050 3350 72 km/h @00 5 DEDHOS” €3 230 ) |DaTrEIoT Srdo
DOEd ?

Options :
I5m

1. ®

S50 m
2. %

60 m
3. ®

i 100 m



Question Number : 174 Question Id : 7473902506 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @03e3es e o

If each edge of a cuboid is increased by 50%. Find the percentage increased in its
surface area?

2,8 OB 0550 A3y, (D3 0T 50% DOND, R A3E), OB
TS’ DOAS FEE), EeDF507?

Options :

250%
1.+

L« 100%

o
- 75%

150%

4. %

Question Number : 175 Question Id : 7473902507 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%15e3¢% P50

If the diagonal of a square 1s decreased by 15%. Find the percentage decreased in
its area?

2,€ T5AS(HX0 TBNEY DESBD 15% 08, 3 SFr55m6T 50
F°e° ) ST DodN?

Options :

25.57%

2. %

3.9

Question Number : 176 Question Id : 7473902508 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @0%je3¢5 aranQs0

Ratio of volumes of two cubes is 27:64. Find the ratio between their total surface
areas?

BOCD D" DIDOITETS DNNEY 27:64. @ONSD, ¢ OIS

&0 JF°e5ed AN )Ed DO ?

Options :

3:8

1. ®

27:64
3 % 34

v 9:16

Question Number : 177 Question Id : 7473902509 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @05%e3¢5 e 0
A metallic sphere of radius 12c¢m 1s melted into three smaller spheres. If the radii of
two smaller spheres are 6 cm and 8cm , What 1s the radius of the third sphere?

12230.90 750 EOAS s A0 St D) Fieren™ €8Aotrd.

DO DB fgeer G0 6 cm SHOO 8em 90N, °chsd TS0

A30EY R0 DOes ?
Options :
- 14 cm
16 cm
2. %
s v 10 cm

\ 12cm

Question Number : 178 Question Id : 7473902510 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - e203e3es arends0

111, +101,, =

@)



Options :

, Hiby

1100
- (2)

1011,

1001,,,

4.%

Question Number : 179 Question Id : 7473902511 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0Ze3e5 250

If 12124, = x4, . then x=

1210, =k, EODAES e

Options :

L« 370

L« 420
s % 320

4 v 450

Question Number : 180 Question Id : 7473902512 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%ed¢5 e 50
If n 1s a positive integer and x"-a" 1s divisible by x-a, then for what values of n, 1t 1s
true?

1 2,8 GAPTos D, x™-a® 6 x-2 T 2"A0DDHSB Dn VeI VO

Q5500007
Options :

For all values of n —n G308), @) dODSOE

1. ¢

Only for even values of n —n O30E) @) D6 SoWwge>E

2. %



Only for odd values of n - n G30E) @A) 230 SoPSHE

3. %

Only for prime values of 11 - 36330 [D55° SOWEE S0 A7 dodd
4. % - -
Is Section Default? : null

Question Number : 181 Question Id : 7473902513 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)2305e5¢5 OO Darieded 0G50
Which of the following is tautology?
808 5" DB DegRBIAW?

Options :

rVaq
1. ®

pV(~p)
2.9

Lx PN 2)

(~p)Vag
4. %

Question Number : 182 Question Id : 7473902514 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - Deztiedes SHBO Bariiedes P50
For statements p and q. when pvq becomes false?

DIST p.q VD, Vg MDD SRy BHSA0H?

Options :
P 1s false and q 1s true

Pe5ad)), q 2559

1. #

P is true and q 1s false

P 255))- 4 €a))
2. #

Both p and q are false
p.q DOCD €55))
v

3.



Both p and q are true

P.q DOCR 2,0))

4.%

Question Number : 183 Question Id : 7473902515 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - D3ie3eh SO BariieIes renBs0

In a group of 240 persons, 175 can speak English and 85 can speak Telugu. How
many persons can speak Telugu only if every person speaks at least one English and
Telugu?

240 2008 Hye DBrrod” 175 L0 Rofid Argrénoth 2o8akn 85 Lo
S AErERRG) DA DFHED e80(fH T BLM) TP ATEPELRDYED, B

ArGan DrerEn®ad ’coz,foéw o0l ?
Options :

85

Question Number : 184 Question Id : 7473902516 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)238e3¢5 BN BerHedes N Ve]{e)

In an examination 25% of the total students failed in Telugu. 35% failed in English
and 10% m both. What percentage of total students passed in both the subjects?

208 0BLS” Ao Domgoen 25% Berde’d 35% esotfo S°W10% Gocotdes’ &
&GOy SO, dndo ITYHOS’ Jod TEo Jorden  GolioesS @

B0 E?
)
Options :

1.\\?30

L% 55



Question Number : 185 Question Id : 7473902517 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - De3iiedes HBa Dariedes Te0Q S0
Let R= {(x.y) : x and y are positive integers and 2x+y = 12} then R'=?

R={(xy) : X,V O eJ 005N DO 2x+y = 12} 900 R1=7

Options :

- £(2,5).(4.4),(6.4).(8,2).(10,1)}

L {(2,5).(4,4).(6,3),(8.4),(10,1)}

L 12.9.644.63).82)10.))

. (624966238110

Question Number : 186 Question Id : 7473902518 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 23056365 0B Dariseded AN Vel{e)
If R={(x.v): x and vy are real numbers and |x — y| < 1} then R is

R={(xy): Xy €N V) QOWSEN, |x — y| < 1} @00 95) )¢ R=
Options :
Not symmetric - J°a3do0 S

1. ®

Transitive — “@Sd&é
2. %

Anti-symmetric - o3 o€d- Q0

3 %

Reflexive — BZ‘J§Q5
4.9 B

Question Number : 187 Question Id : 7473902519 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Algebrical and Geometrical Ability - Deaie3es 0Ba%0 Bereiiedes P50

1

The domain of the function f(x) =——1s
logyg(x—2) ——

DO fix) = ABNEY, (DT3FedD

log,o ( —2)
Options :

y (23)U (3,x)
, @

(3,%)

4% R

Question Number : 188 Question Id : 7473902520 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)235e3¢5 OO Dartedes randso
f(x) = 5x-3 and g(x) = x*+3 = (fog)(1) =

f(x) = 5x-3 DOAW g(x) = x>+3 = (fog)(1) =?
Options :
L 16

o LT

Question Number : 189 Question Id : 7473902521 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - Darieded 0803 Barricded Sﬂaﬁa%o

What is the equation of the straight line Passing through the points (2,0) and
(0.1)?

Docanen (2.0) Sodain (0,1) (o D' HEY T A0S, DALBe0
Options :

x-2y+2=0
1%



Question Number : 190 Question Id : 7473902522 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)235e3e5 SOOI DarKedes 050
The vy- intercept of the straight line passing through the points (2.4) and (1.3) 1s
Docoaew (2.4) , (1,3) oo A DO B £ y- oh Dotk

Options :

Is Section Default? : null

Question Number : 191 Question Id : 7473902523 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (5e7°08 Pe0Q 50
The Arithmetic mean of 2.5, 3.5.4.6.5.8.6.5.5.61s

2.5.3.5,4.6.5.8, 6.5, 5.6 00S); MoS206{:00

Options :

4.85

Question Number : 192 Question Id : 7473902524 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Statistical Ability - 5e3°08 P50
The geometric mean of 4,8.16.8 1s

4.8.16.8 -:ﬁ.DSEJ ed ;ﬁx,’)]g;ﬁ.)o
Options :

1. % 4
2.*16

v 8

Question Number : 193 Question Id : 7473902525 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (5e5°08 P50

The harmonic means of 2.3.4.5 1s

2.3.4,5 D308} 37076528 s 5a0a30

Options :

190

. 66
240

, % 0D

160

% 17
240
sv 77

Question Number : 194 Question Id : 7473902526 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (ie7°08 D Y50
The median of 12,16,24.18.14.26.32.28 1s

12,16,24,18,14,26,32.28 cfmsb mc;‘)?srﬁe:’so
Options :

St
1.J“1

2.33 22



; = 20

2
|95

Question Number : 195 Question Id : 7473902527 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (56770 20 Q 50
The mode of 64.56.66.74.58.68.66 1s

64.56,66,74.58.68,66 O30, 22:30$E0
Options :

1. % 68

L« 58

3. v 06

64

4. %

Question Number : 196 Question Id : 7473902528 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (5e7708 050
The mean deviation of 2.5.6.2 4 1s

2,5,6.24 031)5‘.3’ &ﬁ.)c:ﬁ?s;ﬁ) DTIRD
Options :

2.15

1. %
L % 236

1.64

3 %

Lo L4

Question Number : 197 Question Id : 7473902529 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (€708 0G50
The standard deviation of five consecutive integers 1s

DD DD QYrTos°w €0 PRI Bebb)

Options :



Wi B

Question Number : 198 Question Id : 7473902530 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (569708 "DQ S0
A problem m mathematics is given to Three Students P, Q and R, whose chances of

solving it are %%% Respectively. What is the probability that the problem will be

solved?

E)mDngwP,Q 08030 R @ £ 2 Heded SIUISIEVIC 0 NG LN DD B FBoSEEIS

&= | =

. 3 VDV FHOITEIS 0TS oB?
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Question Number : 199 Question Id : 7473902531 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Statistical Ability - (€770 *e0P 50
A and B are two sets such that n(A) =5 and n(B) =4. A mapping from A into B 1s

selected at random. What is the probability that the mapping is a constant function?
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Question Number : 200 Question Id : 7473902532 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (fea°08 2G50
Three coins are tossed in a single throw. What 1s the probability of getting one head

and two tails?
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